

(CIN NO-U40109MH2005SGC153646) (GST NO-27AAECM2936N1Z2)

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD.

From : - Major Store "A" Chhatrapati Sambhajinagar (Aurangabad) Name of Office: - Major Store "A" Chhatrapati Sambhajinagar (Aurangabad)

Office Address :- Block No.05, Ground floor, MSETCL Administrative Building, Near Harsool T Point, Jalgaon Road, Chhatrapati Sambhajinagar (Aurangabad)

Contact No . :- 8554994790

E-mail :- ee2010@mahatransco.in

No.EE(St)/MSA/CSN/SM/Enquiry/Nohn 0 0 1 8 8

Date 2 6 JUL 2024

E-Enquiry

10,	1	
M/s.		
111/3.		
The state of the s		-

E-Enquiry for Refilling & supply of spare parts of DCP type & Mechanical Foam type Sub: Fire extinguishers at Custody Waluj under Major Store "A" Chhatrapati Sambhajinagar (Aurangabad) for Six Months period

Dear Sirs,

Sealed and superscripted Quotations are invited for following enquiry through quotation process of MSETCL from authorized contractors/ bidders who are registered vendors of MSETCL for following work as per enclosed schedule 'A' & 'B' on or before. 02.08.2024 up to 13.00 Hrs.

## Terms and conditions of contract.

- 1. Name & Scope of Work: As per schedule 'A' & 'B'.
- 2. Date of opening:- 02.08.2024 if possible
- 3. The refilling & supply of part fire extinguishers at custody, Waluj under major store "A" "Chhatrapati Sambhajinagar (Aurangabad) will be in force for 6 Months from the date of issue of this order.
- 4. In this six months period, you should refill & provide spare parts as per rate quoted by

- 5. The maintenance of fire extinguisher should be done as per requirement of custody in charge, Waluj.
- 6. Rate should be quoted Inclusive of GST as applicable.
- 7. You should have to pay security deposit @ 5% of the order value.
- 8. The joint inspection on opening of fire extinguisher shall be done in presence of the representative of Waluj Custody In charge.
- The contractor will have to collect the empty cylinder for refilling when required and deliver the same duly refilled at Custody, Waluj Loss on account of damages/theft during the course of refilling, pressure testing, etc will be recovered from contractor's accounts.
- 10. The contractor should have valid certification under Maharashtra fire prevention of life safety measures act 2006.
- 11. The contractor will have to provide necessary test certificate in support of having tested/ refilled the fire extinguishers at the time of delivery otherwise bill not be admitted.
- 12. Income tax and other taxes as applicable will be deducted from your bill at prevailing rate.
- 13. Quotations received after due to date will not be accepted.
- 14. You will have to mention your GST registration number on your bill.
- 15. The spare parts to be provided to fire extinguisher should be new & genuine one, the sample of the same should be got approved from the undersigned. The old spare should be returned to our concerned office in charge & acknowledgement of the same should be enclosed along with the bills.
- 16. All the equipment's /material instruments required for refilling of firefighting equipment's at custody waluj, T&P, vehicle etc., & labours shall be arranged by you. No T&P or labour or equipment's will be given by the MSETCL.
- 17. The contractor should have experience of similar type of work & should be attached with the offer quotations.
- 18. The contractor will be responsible for accidents to their workers occurring during entire course of work & he will have to pay compensation whatsoever as per the prevailing Workman's compensation act.
- 19. Defective material will be rejected and you will replace the same with good one at your cost including cost of transportation if any.
- 20. The payment will be made subject to satisfactory service against submission of bill in triplicate.
- 21. Penalty: penalty @1/2% per day subject to maximum up to 10% will be recovered from your bill/deposit if you failed to attend servicing/ repairing/ refilling within 7 days from the date of receipt of intimation.
- 22. All expenses towards visit of maintenance engineer shall be bore by you.

- 23. All disputes arising in connections with the above quotation/order will be finalized exclusively in Chhatrapati Sambhajinagar (Aurangabad) court only.
- 24. The order shall also be governed by general terms & condition of company as amended from time to time.
- 25. If any dispute/ discrepancies arising in the annual maintenance the decision of the undersigned will be final & binding on you.
- 26. In case of any dispute the decision of the undersigned will be final & binding upon you. The undersigned reserved the rights for cancellation of any or all quotations without assigning any reason.
- 27. Submission At:

Executive Engineer,

Major Store 'A', Chhatrapati Sambhajinagar (Aurangabad).

Block No.05, Ground floor, MSETCL Administrative Building,
Near Harsool T-Point, Jalgaon Road,
Chhatrapati Sambhaj inagar (Aurangabad)
Phone: 0240-2373047/Fax- 237 3048
Email Address: ee2010@mahatransco.in

Thanking you.

Encl: Schedule 'A'& 'B'

Yours faithfully,

Executive Engineer, Major Store "A", Chhatrapati Sambhajinagar (A'bad)

#### Copy s.w.r to:

1. **The Chief Engineer,** EHV PC O&M Zone, Chhatrapati Sambhajinagar (Aurangabad). – For information please.

#### Copy to:-

- 1. **The Assistant Engineer**, Major Store "A", waluj custody, chhatrapati Sambhajinagar (Aurangabad).
- 2. **The Dy. Manager (F&A),** Major Store "A", Chhatrapati Sambhajinagar (Aurangabad).
- 3. **IT admin, Assistant Programmer**, Chhatrapati Sambhajinagar (Aurangabad) for Publication of E-enquiry on web site.



### MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD.

Major Store "A" Chhatrapati Sambhajinagar (Aurangabad)

### SCHEDULE - "A"

Sub: E-Enquiry for Refilling & supply of spare parts of DCP type Fire extinguishers at Custody Waluj under Major Store "A" Chhatrapati Sambhajinagar (Aurangabad) for Six Months period

Sr. No.	SAP Service No.	Particulars	Quantity in No's.	Rate per unit Rs.	Total Amount in Rs.
1	50001537	HP Testing-10 Kg DCP Fire Extinguisher	05	165 /-	825/-
2	50001538	Refilling-DCP 10Kg DCP Fire Extinguisher	05	715/-	3575/-
3	50001539	Refilling -C 02 Cartridge- 10 Kg DCP Extinguisher	05	143/-	715/-
4	50001549	P&F Safety Clip-10Kg DCP Fi Extinguisher	05	33/-	165/-
5	50001540	Painting & Labeling- 10Kg DCP Extinguisher	05	165/-	825/-
6	50001543	P&F Hose pipe-10Kg DCP Fire Extinguisher	05	215/-	1075/-
7	50001544	P&F Top Cap-10Kg DCP Fire Extinguisher	05	539/-	2695/-
8	50001545	P&F Disch. Grip 10Kg DCP Extinguisher	05	121/-	605/-
9	50004018	P/F Rubber Washer 10ks DCP Fi Extinguisher	05	24/-	120/-
10	50012388	Repl. 10ke DCP Fi Extinguisher Sticker	05	33/-	165/-
Total Amount in Rs.  Add GST @ 18%  Grant Total Amount					10,765/-
					1,937.7/-
					12,702.7/-

#### SCHEDULE - "B"

Sub: E-Enquiry for Refilling & supply of spare parts of 50 Ltr. Capacity Mechanical Foam type Fire extinguishers at Custody Waluj under Major Store "A" Chhatrapati Sambhajinagar (Aurangabad) for Six Months period

Sr.	SAP	Particulars	Quantity	Rate per	Total Amount
No.	Service No.		in No's.	unit Rs.	in Rs.
1	500011268	HP Testing-50L M/FOAM Fire Extinguisher	10	337/-	3,370/-
2	50006110	Refilling-50L M/FOAM Fire Extinguisher	10	1,375/-	13,750/-
3	50007089	Refilling -C02 Cartridge- 50L M/FOAM Fire Extinguisher	10	330/-	3,300/-
4	50012378	P&F Safety Clip-50L M/FOAM Fire Extinguisher	10	55/-	550/-
5	50001593	Painting & Labeling- 50L M/FOAM Fire Extinguisher	10	385/-	3,850/-
6	50010295	P&F Hose pipe-50L M/FOAM Fire Extinguisher	10	1,037/-	10,370/-
7	50012132	P&F Top Cap-50L M/FOAM Fire Extinguisher	10	825/-	8,250/-
8	50012380	P&F Disch. Grip 50L M/FOAM Fire Extinguisher	10	605/-	6,050/-
9	50004025	P/F Rubber Washer 50L M/FOAM Fire Extinguisher	10	55/-	550/-
10	5001239	Repl. 50L M/FOAM Fire Extinguisher Sticker	10	55/-	550/-
Total Amount in Rs.					50,590/-
Add GST @ 18%					
	59,696.2/-				

Total in word (<u>SCHEDULE – "A" + "B"</u>): - <u>Seventy Two Three Hundred Ninety Nine</u> Rupees Only

Executive Engineer, Major Store "A",

Chhatrapati Sambhajinagar (Aurangabad)

Seal & Signature of Bidder.